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(etel: &)

S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OXALEE JIEE HMZ
25,0002 *8807H 22,000
2 332&H| 2,400 2,400 0
OHAEEE L2 200,000%! x 122! 2,400
ZHAOHHMIH 2= K (HEAIY) 45,000 29,802 15,198
& 29,250
= 15,750
401 AIEHIL L2 0HHI 45,000 22,464 22,536
= 29,250
= 15,750
01 Al&EHI 45,000 22,464 22,536
ORZOIYENE Al Y 24
15,000,000& =14 15,000
= 9,750
= 5,250
OZZUOHNA B4 30,000,000« 14! 30,000
& 19,500
= 10,500
R Al S22 1,858,800 79,000 1,779,800
201 LetE2AH| 7,000 7,000 0
01 AF222|H| 7,000 7,000 0
O=%Al Xtz 1,750,000& x4 AH 7,000
202 o4H] 1,800 2,000 A200
01 2LH0oY] 1,800 2,000 A200
O gRFA 20,0003 x2H x453| 1,800
401 AEHIL OB 1,850,000 70,000 1,780,000
01 Al&HI 1,850,000 70,000 1,780,000
oA AE2 B4
25,000, 000& =404 A~ 100,000
Ossel ANEHEH =&
150,000,000 & * 14! 150,000
OZTEFXNT S2HESAI EXBY
1,500,000,000& * 14! 1,500,000
O=&Ee FXE S AF AAIEAH
100,000,000 *14] 100,000
Ol & &43t 2,500 5,000 22,500
201 LBtEAH| 2,500 5,000 22,500
01 AF22t2|H| 2,500 5,000 A2,500
OSS0tg & ord 2|
50,0002 *509H A~ 2,500
XNE 22RO 2,900,000 2,900,000
401 AEHIL U] 2,900,000 2,900,000
01 Al&HI 2,900,000 2,900,000
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A 22
I WO S5 U 22(STLDT/B)
S 2AZDIB 25 EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
01 &892 30,000 30,000 0
OYATTBWE BT Y=
30,000,000 14 30,000
USkAT BE oA 2Y 3,560 3,173 387
= 1,068
= 2,492
201 et A 3,560 3,173 387
= 1,068
= 2,492
01 AF222| 8| 3,560 3,173 387
OANEESS & #¢ 3,560,000& x 14! 3,560
= 1,068
= 2,492
N E0IS HOAIL AX 100,000 100,000
401 A& HIL20IY] 100,000 100,000
01 Al&EH| 100,000 100,000
OBBIEOIS 01SA SHTA L AT &
X(Ss&el) 100,000,000 & *1A! 100,000
NL=H -85 X 161,680 97,000 64,680
= 30,000
= 131,680
UAANH=H 29 60,000 0 60,000
= 30,000
= 30,000
201 Lt AH| 60,000 0 60,000
& 30,000
= 30,000
03 A2 60,000 0 60,000
ORLEX(ANSH) SLXE
60,000,000 *14] 60,000
& 30,000
i 30,000
22 OHAE =X 101,680 97,000 4,680
201 etEAH| 38,000 38,000 0
01 AF222|H| 10,000 10,000 0
OZZEMH0|X| &= |
10,000,000&! 14! 10,000
2 352ZHl 18,000 18,000 0
O E=HOIXN 2 1,500,000& x12& 18,000
03 A2 10,000 10,000 0
OBENHEHS 10,000,000& 13| 10,000
202 O4H| 1,680 2,000 A320
01 2LHodY| 1,680 2,000 A320
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A 22
B 2RI|E EE Y B2(2IUBR/B)
& NS=H 2dst X EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
O2Z0IAE =&
120,000 2 *73| 1,680
301 Lete N3 7,000 7,000
11 HAFAHIX R 2 2,000 2,000
OSMAIE N 212101 AlH|IZ A
2,000,000& * 1A 2,000
14 J|EtE A2 5,000 5,000 0
OStH2Z2H RX| QHEIE 29
5,000,000« 14! 5,000
308 XX SHHSO0I& 20,000 20,000
07 AXIEH2HREE S 20,000 20,000
OSalet HAIZ SE2IH =N
20,000,000& *14] 20,000
405 Xh&EFESHI 35,000 35,000
01 AL 2 EFH SHI 35,000 35,000
oOJ18Y 20gE & 35,000,000 14 35,000
SAAEH| 22 (SSollY=A/ ol Y40 - HE) 475,257 543,632 68,375
SSAEZ Sl 475,257 543,632 68,375
JaLd L A2 345,257 353,632 8,375
101 1244 174,257 182,632 N8,375
M4 IIHZ22XNSE S 174,257 182,632 N8,375
Oty 2tE A st 174,257
oJl=z= 86,370 x5 270! 116,600
(OES=t= 86,3703 *5H x525 22,457
Osda224Y 86,370R*5H *57U*0.5 12,308
O& X4 86,370 *5H x 12 5,183
O=0HAZ2EEE
31,309, 125& x5 x0.045 7,045
ONEEHFEEEE
31,309, 125&%5H%0.0175 2,740
OHLEEEE =
31,309, 1252 x5 *0. 03545 5,550
O&ILAESE=E
1,109,908& *5H x0. 1314 730
ONIHHEE =
31,309, 125&x5%3%0.0105 1,644
201 LetEAH| 144,000 146,000 A2,000
01 AF222|H| 3,000 3,000 0
OZE3 &Y ARE 2
3,000,000& x14] 3,000
2 3524l 141,000 143,000 A2,000
03322 % HAl 9,000,000 *12& 108,000
(OFES=INI=IR=YN T | 33,000,000& 14 33,000
206 M= 4| 5,000 5,000
01 M=H| 5,000 5,000
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A 22
B BHBH|BR(SHNLSL/ AL - OfE)
=9 SSAEE |2 EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
AN AT BR7Y
5,000,000 *14] 5,000
401 AlIEHIL 2 OHHI 20,000 20,000
01 Al&H| 20,000 20,000
OIS HE=&Y 5,000,000& 43| 20,000
405 XHAHFISHI 2,000 0 2,000
01 MY E2ZFH SHI 2,000 0 2,000
O=&0IgH tola &I ¢
2,000,000 *14! 2,000
EANS B 40,000 80,000 A40,000
401 A& HIL 2B 40,000 80,000 A40,000
01 Al&HI 40,000 80,000 A40,000
OEAIS ¥ BAXHEE B
40,000,000 =14 40,000
ANEZ2 SX2te] 90,000 110,000 A20,000
401 AlIEH| L L20HH] 90,000 110,000 A20,000
01 Al&HI 90,000 110,000 A20,000
OMNAE E= 20,000,000& 14! 20,000
OHEOAIL (O, HIX]) 22
1,000, 000& *200H 2~ 20,000
OLATIS AES AR U 24
30,000,000& * 14 30,000
OFAMAIE SXNES 20,000,000& 14! 20,000
J|BAIA E A (S oH 4= A/ GH LA - HHE) 59,800 104,480 N4, 680
JIBIAIEZ =4 & 22 59,800 104,480 N44,680
AEES 2 A2 8,000 6,000 2,000
201 LBt2AH| 8,000 6,000 2,000
01 AF222|H] 8,000 6,000 2,000
O=%Al dxt= 5,000,000 * 14! 5,000
QuANE ST
3,000,000 =14 3,000
AlEE2 DIgtEA 51,800 98,480 A6,680
202 o4d| 1,800 2,000 A200
01 2LHOL| 1,800 2,000 A200
OAIEZ DBt HREA
20,000 & x2H 453 1,800
401 AlIEHIZLE20HHI 50,000 90,000 A40,000
01 Al&YI 50,000 90,000 A40,000
Otll==&FH AlE= 3|
1,500, 000& x200H 2~ 30,000
Ool=s&FH &2 Y =XE FH|
1,000, 000& *200H 2~ 20,000
L2 NE(SHMHLSAM/ WSS - HE) 913,800 1,177,300 A263,500
J| 68,000
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A 2R
A YT IS (SUNSSA/HLE - )
G2 YA AHT (49 A 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
= 34,000
= 811,800
otd AHAIES EH| 51,200 1,042,200 A991,000
ol AAHAESES JU| 51,200 26,200 25,000
201 et AH| 1,200 1,200 0
2 22294l 1,200 1,200 0
O CCIV dE23|M A =EE2
100,000 x 122 1,200
401 AIEHIZLE20HH] 50,000 25,000 25,000
01 Al&EH| 50,000 25,000 25,000
Ol E2S ZAIEH € JFAEE HH|
1,250,000 *40H 50,000
[ e e el 862,600 135,100 727,500
| 68,000
= 34,000
= 760,600
S A SMADU(IUOIDIE | HIIE) SXIE4A 326,600 105, 100 221,500
[e5]
201 UBr2H| 6,600 5,100 1,500
01 At 22lH| 3,000 1,500 1,500
OXSZHE =M4Z2%2 2R UHE=
3,000,000& x14] 3,000
2 332%H| 3,600 3,600 0
O=MZ2Y 5323 300,000& * 128 3,600
401 AlIEH|ILL0HH] 320,000 100,000 220,000
01 Al&HI 320,000 100,000 220,000
O A&Ex L SXI2ta]
100,000,000 * 14! 100,000
O=Zd t3aZ 34l &€ 849
20,000,000& * 14! 20,000
OAS3 LMY 200,000,000& 14! 200,000
Shte| M2 &X 400,000 30,000 370,000
401 AlIEHIL20HH] 400,000 30,000 370,000
01 Al&H| 400,000 30,000 370,000
Osbtel 82t &X
400,000,000& 14 400,000
220t=d2 e Al 136,000 0 136,000
J| 68,000
== 34,000
= 34,000
101 @124d| 40,000 0 40,000
J| 20,000
= 10,000
= 10,000
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2A:

HE: g2y JE(soHLra/olLa=4 - HE)
o9 ofer2rEE s =ESED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
M IIERIZ2ENSE S 40,000 40,000
ORSHH oY Y T2 Y BX
,500,000&x2F«8H & 40,000
| 20,000
T 10,000
= 10,000
201 Let2A| 82,000 82,000
Jl 41,000
& 20,500
i 20,500
02 332Z| 4,400 4,400
OgH 2323l 550,000 «8IH & 4,400
D) 2,200
& 1,100
= 1,100
03 A2 H| 77,600 77,600
OE T2 2oy
77,600,000 14 77,600
Jl 38,800
= 19,400
= 19,400
202 Ot 2,000 2,000
Dl 1,000
& 500
= 500
01 =LH0IBI 2,000 2,000
Q&H 43 st E&Y
20,0003 *4F *253| 2,000
J| 1,000
& 500
= 500
301 LEtE NS 2,000 2,000
Jl 1,000
& 500
= 500
11 HAFABIXI RS 2,000 2,000
Oox=2 8 X Ast
200,0002 x5 *23| 2,000
| 1,000
& 500
= 500
405 KHHE S| 10,000 10,000
Dl 5,000
& 2,500
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SA BB
el

I‘I ZH

Soi semmass o (cror: 2is)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
= 2,500
01 ML Z2SFHSHI 10,000 0 10,000
OdH Ald=2 &R 10,000,000 & 14! 10,000
J| 5,000
= 2,500
= 2,500
=22 2ol (sl LA/l LA HE) 585,146 773,222 A 188,076
Aol ~=E 29 585, 146 773,222 A\ 188,076
A== 292l 71,623 179,200 A107,577
101 @124d| 13,773 12,600 1,173
U IJIRHMIZ2Z2XNSES 13,773 12,600 1,173
OY AR MYID| =A
98,3702 * 1«90 8,854
OHIXIZ22IH 2894 9B, 370&x 1Y x50 4,919
201 et A 4,800 8,800 A4,000
01 AF222lbl 4,800 8,800 N4,000
ot4+sE 22X 24|
8,000 x5H 45 1,800
Qoll==& S0, 1Y S) M=
75,0002 *400H 3,000
401 AIZHILE0HY] 53,050 156,000 A102,950
01 Al&H| 53,050 156,000 A 102,950
O=x=gstHE &X 9,000,000 %14 9,000
Ol +==2& oHHZHHALEAZE E) ME
150, 000& *40H 6,000
OOISAEoM I U x|
5,000,000& =2 10,000
O0lsAE2a dXs RAEs
550,000& 1194 6,050
Ot &X| 50,000 *400H 2,000
OUALERH ®H| ZH| Xt
5,000,000 *4J 2 20,000
SHAMESAIA 2Y 21,700 21,700
201 LBt2AH| 14,700 14,700
01 AF222|H| 14,700 14,700
OYASHE S ALA! HIAZ22 A Y=2H| 11,700
OHIU22X} =2
60,0003 *3H*30 5,400
OFL22T Y=Y
120,000 x3@ x 15 5,400
CELIEES RSP
60,0002 x 1Y * 15 900
O At A SAIA! 2|
3,000,000& 14! 3,000
401 AlIEH|ILL20HH] 7,000 7,000 0
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A B
MM PR E B2 (SHLSL/EHLL - OE)
Rl St e=E 29 (9 &)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
01 A&t 7,000 7,000 0
LASES A WAL FY)
7,000,000 * 14 7,000
S E A M2 65,411 58,567 6,844
101 el24| 65,411 58,567 6,844
M IIRHHZ2Z2XSES 65,411 58,567 6,844
Q==& SEAMEE EH L oEQ
2 elAdl 65,411
O E==, 98,3702 *8 x45 35,414
O 98,3703 *8F*10 7,870
O3 98,3702 +8H 1 787
Osdag2=g 98,3702 x8H*162*0.5 6,2%
O=z4ldl 8,0002 8«24l x45 5,760
O1ul=t| 200,000 x8H 1,600
OZHALH| 5,000 x8F 45! 1,800
O=nZIEE=
6,590,000 *8Z *0.045 2,373
OAH2LLEEE=
6,590,000 *8% *0.03545 1,869
OWINRAEEZ
156,240 *8H 0. 1314 165
ONEFEFEZ
6,590,000& 8% +0.0175 923
Ot EE =
6,590,000 8 +0.0105 554
SO E SAOHE 22| 426,412 391,055 35,357
101 @I24d] 419,89 384,535 35,357
M IIRHHZ22XSEs 419,89 384,535 35,357
O+ +4AMRY Q12| 419,892
oJl2= 98,3702 *40% 45 177,066
O=5=% 98,3702 *40F 10! 39,348
OF=PNE= 98,3702 *40H x 1 3,93
Osgda2R=g
98,3702 *40H 162 +0.5 31,479
Oort2Z2EH(dl4=01)
10,0002 5«21 %5 A| 2t 5,250
oort2Eg(dls=J|, d&E2=2)
5,000 5«21 *2A| 2t 1,050
Oort22=(44=01)
10,0003 # 10 «24 L x5 A 2t 12,000
Oort222(d2D], AH2Z)
5,0002x10H x24 L x2 A| 2t 2,400
OlE =< 40,0002 * 1 45 1,800
O8%=Y 30,0002 * 1 45 1,350
(OEPSEN= 20,0002 *4YH x45 3,600
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fA:

=t
I‘I H: oH
(83
ot

= Qe e-=d 29 EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MmE=}
Oflg=4 10,000& *40Y *45 18,000
OZ24AM| 8, 0003 x40H »34] x452 43,200
O2+AlH] 5,000& x40 x45 9,000
O1l=h| 300,000& %40 12,000
OQIAHI(OHEH, HIZEZ)
9B, 370Rx7H 14 9,641
OFLIR+EEN, HER)
08,370Rx7H x40 .5 1,378
OF R4+ (IEE, HES)
9B, 370 *x7Fx2A 1,378
OBHBONEE, HEE)
8,00021 7 52411421 1,568
SELIERET
8,508,950& *40H x0.045 15,317
OHUEEHEEE
8,508, 950& »40 *0.03545 12,066
Oz |IRAEE=
291,860& x40 +0. 1314 1,535
(@EE=1=k= )
8,508,950 x40 +0.0175 5,957
ONMETHHEE E
8,508,950 %4023 *0.0105 3,574
Oalol 28 Dl 150,000 *40H 6,000
201 et AH| 4,000 4,000
01 AtR22|BI 4,000 4,000
O=x&&FHl #¢ 125,000 *24 4 3,000
oARE P2 1,000,000& x14] 1,000
301 LetEX™Z 2,520 2,520
11 HAFRIBIXIR 2 2,520 2,520
Odll==2& ot 22| SAK SAH|
8,000% x7H x 14452 2,520
NAXE L SH(S2HYA/NLESA - HE) 985,090 622,463 362,627
= 51,600
= 80,700
= 852,790
DISdi==& 29 985,090 622,463 362,627
= 51,600
& 80,700
= 852,790
OISdl==& 292l 85,857 84,620 1,237
101 e124H] 8,657 7,920 737
M IR HZ220SES 8,657 7,920 737
OHIXIZ22IH 24
98, 370 x20H A x2F %22 8,657
201 eEt2Ab| 42,400 42,400 0
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2A:
R
(=

S9l:

&t
oHEE S ol e
os==& 24

(etel: &)

S - BB - SIS - HRMY - BES Ol &t e HIDS2
01 AtR2teltl 42,400 42,400 0
Ot==% =201, HE &) N
80,0002 *1009H 8,000
CIEECIERCET]
2,200,000 200 2~ 4,400
OH+S2E +EIAN
4,400,000 +53] 22,000
Ol +=E AR EAZTAMI
8,000,000& 13! 8,000
202 O{d| 1,800 1,800
NETT 1,800 1,800
OH+SH YRFHO)
20,0003 x2Z 45 1,800
307 glzto| ™ 7,000 6,500 500
12 BIZHOIR(Et = H| 7,000 6,500 500
OTIHFL +MUHRE SHAY
7,000,000& 14! 7,000
401 AIEBIZL =2 0HYI 26,000 26,000
01 AlZH| 26,000 26,000
Ot==% AUZE(ALABE S) M=
1,300,000 *200H 2~ 26,000
OiSoi+==& ANdss & 24 468,500 238,500 230,000
201 Lpr=3H| 58,500 58,500 0
01 AFR2t2ltl 58,500 58,500 0
OO0ISA SIEA U MAUF AT
6,500,000 95 58,500
401 AIZHIX 2] 410,000 180,000 230,000
01 AIZHI 410,000 180,000 230,000
Odll==& ANEE HES AIE
7,500,000 «200H £ 150,000
Ot===2F(200H) =& S FHIA
1,000,000 *200H 4~ 20,000
Odi+==SFAILS &I| dEEH
500,000 2000 2~ 10,000
OS4tollH AFRE - o4 Wi £X
230,000,000 *17H 2~ 230,000
OFECHHIX] HIAEI 30,000 30,000
201 22| 20,000 20,000
03 A2 I 20,000 20,000
OBIEMHHIXI HIAEIE JH=
20,000,000& x14! 20,000
401 A2 HIX ST 10,000 10,000
04 A2t Al ZH| 10,000 10,000
Ootx=Uol=+=& SH2W M £X
10,000,000& # 14! 10,000
oHNGH Edi+==2 29 K& 297,533 269,343 28,190
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A B
HE: HYAE U SY(SHHLLA/ WY - OF)
=9 D=8 29 EERSED)
S - BB - SIS - HRMY - BES Ol &t e HIDS2
= 54,900
= 242,633
101 2124y 282,533 254,343 28,190
= 54,900
= 227,633
M IRHHZZ2REES 282,533 254,343 28,190
Ofl==Z ot QP 12| 282,533
oJlzs 98,3703 *33& x45 146,080
= 43,824
= 102,256
OF=&=¢ 98,3703 *332x 10 32,463
= 9,738
= 22,725
O R=& 98,370 %33~ 1 3,247
= 974
2 2,273
OB L2 24(98,37021+BEH+16240.5)
1,210,000 14 1,210
= 364
= 846
Osd2R+2(XHA)
24,760,000 * 14! 24,760
ORI (XtA) 10,0003 *33E *45L 14,850
OLl=HI(XA) 300,000& *33&H 9,900
OZAHI(XEA) 8,000 *33Z x 1445 11,880
OZFAHI (X)) 5,000& x33& +456 7,425
OZRUAZESHZ(XHA)
6,930,000 +33Z 0.045 10,292
ONEEEEEZ(XA)
6,930,000 «33H+0.0175 4,003
OALESHEHZ(XHA)
6,930,000 «332+0.03545 8,108
ORI SLEEHZ (XHA)
237, 7003 %338 0. 1227 963
O&tATHOHEE = (XHAI)
6.,930,000& x33H*0.0105 2,402
O&HEE JH (AEA)
150,000& *33& 4,950
201 Er=23| 5,000 5,000
01 AFS-2t21HI 5,000 5,000
OTEEY 7Y (2HIEIH)
5,000,000& *14! 5,000
401 AIEBIZ = 0HYI 10,000 10,000
01 A& HI 10,000 10,000
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A B
HE: HYAE U SY(SHHLLA/ WY - OF)
=9 D=8 29 EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OF=A0tN A4S A-[(I¥RXE S)24d]
=t 0,000,000 *14] 10,000
H==SE HETAL 103,200 0 103,200
= 51,600
= 25,800
= 25,800
401 AlIEHIL20HH] 103,200 0 103,200
= 51,600
= 25,800
= 25,800
01 Al&HI 103,200 0 103,200
Otl=E2&SHE T A
10,320,000 * 1090 2~ 103,200
= 51,600
= 25,800
= 25,800
Y Ex FME UoH(RYL2AE/HS) 1,135,000 473,912 661,083
CH 500,000
& 180,000
e 455,000
Y LX AA EE 928,000 390,912 537,088
CH 500,000
= 35,000
= 393,000
LA MAEZX RO (MEALY) 70,000 0 70,000
= 35,000
= 35,000
307 QI2+0| N 70,000 0 70,000
& 35,000
= 35,000
02 QIZFEAMAIEE X 70,000 0 70,000
OHYY HAE=x NEKTZ )N
70,000,000 * 14! 70,000
T 35,000
= 35,000
Y EZx ANLE R 22 328,000 193,912 134,088
201 et AH| 58,000 57,000 1,000
01 AFR22lHl 28,000 27,000 1,000
OMNL=EHE=HE =XE HES
10,000,000& 1A 10,000
OSHBHE =X HEZ
5,000,000 *1AH 5,000
OXIE=210{0} Y 22X UHE=
5,000,000 *1A 5,000
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A 22
I BBYTE WU U (2L
SR 2ALYEE AL S5 EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OYE= A2 E&X2X UE=
5,000,000 *14] 5,000
O2LYE=x S AIR22(H|
3,000,000& 14! 3,000
2 3324l 30,000 30,000 0
OXULY E= AMEE 212
30,000,000& 14 30,000
307 BI2+0| M 20,000 19,000 1,000
05 RIZIRE= 19,000 18,000 1,000
ONZBLE 24XUAL ety
19,000,000& 14/ 19,000
B 22 1,000 1,000 0
ONZDY 2E2 1,000,002 %14} 1,000
401 AIEHIL20HH| 250,000 90,000 160,000
01 Al&H| 250,000 90,000 160,000
OAZYE= AMEE SAES
40,000,000 %14 40,000
OULE AEE SNLS
10,000,000& =14 10,000
OXZE=DI0IIHEHE SHEA &X]
200,000,000& * 14 200,000
MIOIEHAEIYE XA 30,000 30,000
307 21201 A 30,000 30,000
04 BIZHSHAAI E X 30,000 30,000
OKNKZOIEHAEY XA 30,000,000 30,000
MIEHEH &8 ALY 500,000 0 500,000
CH 500,000
401 AIEHIZLE20HHI 500,000 0 500,000
CH 500,000
01 A& 500,000 0 500,000
OME Mg X4 500,000,000 x 14! 500,000
CH 500,000
ANE2ZA 24 207,000 83,000 124,000
= 145,000
= 62,000
NEZAL 01T W= AIY 207,000 83,000 124,000
= 145,000
= 62,000
307 BI2+0| M 181,000 29,000 152,000
= 127,000
e 54,000
02 DIZHFAAIHEE R 181,000 29,000 152,000
OMNE XA IS UWEAI K&
181,000,000 & *14] 181,000
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A B
HE: 2 Ex ZHH ASHSIIL2E/MS)
Pl AEZA B4 =ESED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 127,000
= 54,000
401 A& HIZ2HH] 26,000 38,000 212,000
= 18,000
= 8,000
01 A& HI 26,000 38,000 212,000
OMEZA DREA(HLESYEZHEH)S
X 2= 26,000,000 =14 26,000
T 18,000
o 8,000
HNYSAHH| (2= (DIEHIIE 285,243 220,991 64,252
= 16,932
= 268,311
olESHH| (22 172,065 118,137 53,928
ol (&Z 1) 172,065 118,137 53,928
101 el24d| 172,065 118,137 53,928
01 8% 84,112 72,852 11,260
CESEE P8
10,9522 * 16 *40A| 2+x 128 84,112
03 SR (RIAHL) 22 XNE S 87,953 45,285 42,668
OEA0IEHA (A2 H)
29,6032 x4 x30A| 2++ 12& 42,629
OSSR (H+==HAIE2FHI) 4,844
O=UZR=E
14,81+ 1H*14A| 2+ 12 %1.5 3,776
Oxrdaz2=g 178,0002+1H+6 1,068
O AL ZOHL A (2H) 20,240
o=z 19,9723 «2YH 120 A1 2t 4,7%
ORI 159,775 x2H » 15 4,7%4
OFYd22+(HAUMZ)
53,2582+ 100! 10,652
O=3&&ZorA(2H) 20,240
Oxi=2Z22Y 19,9723 «2H*120A1 2t 4,7%4
OB 159,775 x2H 15 4,74
OFL22S(HLUMZ)
53,2582«2H *100! 10,652
olete oty 56,440 56,828 A368
= 16,932
= 39,508
AL SE2LeHis 2 56,440 56,828 A383
T 16,932
= 39,508
101 elz4| 56,440 56,828 A388
& 16,932
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